0.1 Current errors in vertical mode are:

» vertical glyph not used for punctuation [ | ] ... o
» vertical glyph not used for katakana v —
+ vertical glyph not used for hiragana >

* incorrect use of macron in romaji in ruby (I assume, otherwise it should be closer at least)

0.2 Testing solutions

» vertical glyph for punctuation
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« vertical glyph for katakana
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» vertical glyph for hiragana

* incorrect use of macron in romaji in ruby (use the actual character, not math mode)
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0.3 Slightly more serious test
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